EECS2030 Advanced Object-Oriented Programming
(Fall 2021)

Q&A - Review Tutorial Part 2

Wednesday, September 22



Announcement

g BT
-|LabOP2|(due: Sep. 24)

- Lecture W3 (released:
-[Labl|(released: Sep. 22)

7 Written Test (due: Sep. 3




Hello professor! In the tutorial video you said wast 4!'\ Tl whey
assertTrue(e.getSerialNumber( Q FODN4NKQ1GC" );k”f“"‘-‘d gg?ﬂ VAN, A

Can you please explain why the first one is wrong and the secondVone is right
Thank you!

Lo
is not necessarily working d\lO?b({ g4 == A»Tn.e 5#?? W
but then you also said asser’rTrue(e.ge’rProducfg;EQQ) works. mog 74;-; [ (

@Test vf(
public void test_entry_1Q) { L/ ’.‘9 "
Produc = new Product("iPad Pro 12.9", 1706.00); F m. "7&( 97
'p.setFinish("Space Grey"); +
p.setStorage(1000); // 1TB e
p.setHasCellularConnectivity(true); M‘ {@
p.setDiscountValue(220.00); E[': A
- d)
Entry@ nev( Entry[FODNANKOIGC £ p) ; =
// assertT e. : =={"FADN4NKO1GC"D ; % e/‘z-
assertEquals("F9 KQ1GC",_e.getSeri mber()); r sw‘e (d;edy
assertTrue(e.getProduct() @p); {
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String Literals vs. String Objects

public class StringValues {

public statjg void main(String[] args) {
String =|"York University" &l -u
Strin = |"York University" S27=8 Y[],
String = new String("York University.ls’ &3
Q) System.out.println("sl == s + ==s S Y- '
System.out.println("sl == £3: "/+ (sl 5 ,_'|£
System.out.println("s2 ==fs3: [ + (s2f== # );'F
-
@System.out.pr‘intln("sl.eq als(R): sl.equals(sZ));f
&)System.out.printin("sl.eqipls(sP: [" sl.equals(s3));T
@System.out.pr‘intln("sz.eq als(s3p:{" sZ.equals(s3));T

new Foo(Q);

Foo obj =
System.out.p 0 a string ljteral value...[);
ob] fm<d!ﬂl@5!£§ﬂ!hb
T System. out.printl(obj«getS( |“Yor'k University"};
T System.out.printlngobj.getS(Q).equals("York University'
String s4 = tring®N&@rk University");
System @e&.println("Set to a nem Fing\value...");
\obj . fr{s4 )
—F System out.printlnCobj.getSQ) == "York University");

’System out.println(obj.getSQ).equals("York University"));

public class Foo {

private Str‘in@

public void fm(String s) {
this §)=%;

]

public String getS() {
return s;

}




I dont understand why the entries need to be this.noe - 1.

Is it because noe doesnt use O as the first element index?

So if noe is 4, then index for the most recent entry should be 3,
considering O, 1, 2 and 3 as the entries?
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